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Deficit Idle Count Definition
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Operation of Deficit Idle Count in 10GEPON

- The Deficit Idle Count algorithm is part of the 10GBASE-R 
Reconciliation Sublayer and is incorporated in the 
10GEPON RS (cf. 3av_1108_kramer_2.pdf slides 3-5) 

- From the Deficit Idle Count definition we see that:

1. DIC enables the RS to “maintain the effective data rate”
- So with DIC, the RS throughput over time is the same as when 

IPG is a constant 12

2. DIC sometimes inserts and sometimes deletes idle 
characters - in order “to align the Start control character”
- So during End-of-frame processing when the next frame has 

not yet arrived, DIC is not active.
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Issue: Extra IPG bytes added by FEC_Overhead()

– In draft 2.2, FEC_Overhead() is defined as:

– The delay of transmit completion to the column (ie. 4-byte) boundary 
in FEC_Overhead() is not needed:

– DIC is not active at end-of-frame

– The check of alignmentCorrect (after WaitForTransmit state 
in the OLT and after TransmitReady state in the ONU) 
already guaranteesalready guarantees that the next frame will be sent during 
the PCS data transmission phase (rather than PCS parity 
transmission phase)
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OLT control mux

1. Currently, there is 
delay to column 
boundary at end of 
frame

2. If there is a real need for 
delay, it is done at this 
stage with 
alignmentCorrect –
which ensures correct 
transmission each 
start of frame  
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Problem and Remedy 

- The MPCP logic for FEC handling should be clear and not include 
misleading or redundant steps

- Remedy:

a) Restore the definition of FEC_Overhead() from draft 2.1 ie. 

- FEC_Overhead(length) = [(fecOffset/length)/FEC_PAYLOAD_SIZE] x 
FEC_PARITY_SIZE

a) Restore the invocations of FEC_Overhead() from draft 2.1 ie.

- Change the first line in Start Packet Initiate Timer State in figures 77-
13 and 77-14 to:

packet_initiate_delay = FEC_Overhead(sizeof(data_tx) + tailGuard) + sizeof(data_tx) + tailGuard


